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Note:  Write answers to the questions on the objective answer sheet provided. Four possible answers are given.
Which answer you consider correct fill the corresponding circle A,B,C or D in front of each question with
marker or ink on the answer sheet provided.

g B L st nd /. Vl‘?’ﬂ{?«lzw»-wi’%) D,C,B,A.:,ylz.:f;lgﬁdv s

11 A measuring cylinder is used to measure: e bll] rPc.;}oVJj g 11
(A Mass UL (B)  Area | ' Ll
(C) volume ¢s (D) level of a liquid .JAK(ZL(

2. Least count of Digital Vemnier callipers is:
(A) 0.1 mm (B) 0.01 mm (C)
3. Achange in position is called:

eI E RS2
P tmm

Yk 3
(A)  Speed Ly (B)  Velocity v '

4. Inertia depends upon:

(A)  Force s (B) Net Force w}..:g,‘,’
5. Two equal but unlike parallel forces paving differenélf@e of action
produce:
(A) Torque ot (B). Equilibriu
6. Earth gravitational force of atfféction va
1 (B) Infinity (D) 1000 Km
. © e Preddy T

decrease in altitude (D) None of these

e inf$i et

(A) Increase in mass
body <22 ff)

8. The work don -c‘:.t'n--——gﬂ_id_bwLJ»‘G/JIU’J;’__RB’M/"JJ 8
between force » '
A)  45° 0° L) 90° (D)  180°
Riar @
9. Which of the substance is the lightest one? te oo (bdigud 9
(A)  Copper ¥ ()  Mercury Ny
(€) Aluminium g’ (D)  Lead e
10. Water freezes at: :‘-‘_VW.J/,/,/,{./.,"J ;}g 10
A)  0°F B)  32°C ) 213K ® 0K
11. In solids, heat is transferred by: :q...‘a'g)b’..-u/lidlii'wtrlztuf" 11
(A)  Radiation Hishs (B) Conduction F
(C) Convection at 4 (D) Absorption o
12.  Thermal conductivity of wood is: g LAY AT ARY)

A 0.08 wmk! . (B) 0.59 wmtk! () 0.03 wm'k! (D) 0.8w m k!
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2. Write short answer of any five parts of the following:- 2x5=10

{iy Whatis measuring cylinder? Write its uses.
(i) Define atomic Physics.
(i) “How to use a stopwatch?
(iv) Define random motion and write one exampie.
(v) Define Scalars and Vectors. ‘
(vi) Define uniform velocity.
(vii) Define momentum and wite its SI unit.
{viiiy Define inertia.
3. Wiite short answer of any five parts of the following:- 2x5=10
(iy Define resuitant of forces.
{i) What is meant by rigid body?
(i) State principle of moments.
(iv) Define gravitational fieid strength.
(v) Whatis GPS? °
) Define artificial satellite.
(vii) Write SI unit of Power. Also define it.

(viii) Define efficiency.
Write short answer of any five:parts
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Marks : 48
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I fehz B Lanbhedd 2
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s g J6EE e (Vi

) gy des  (vii)
G f ez P Lanble S 3
et )
?ﬁ'..)l/gc..(ﬁﬁ_u {ii)
Sy (i)
WSS W)

Sy Ay stk (Vi)

AP Loty A
U Y SIZE FusEs” )
teudb 2 L s (i)

& Yyt bina S5 dar (i)
E PSS A IE T (g ()
;J):(/v»"Ldﬁ}-{f}l(d;/?%r”gk”; (V)

T:,-kac‘.i;?}
IR (V)
LGl uF le Sl (Vi)

Skl rund b ol Ao K gp S (vil)

(224>

Note:-  Answer ary ! fie folfowing. 9x2=18 Al erlatrneldd  od
5. (a) State and expfain-Newton's second law of motion. 4+5=9 el lfrlde () s
b) A train starts from rest with an acceleration of 0.5ms™2. L/ u“ga’w:cf’i)ffiéo.Sms-lc..dbd gg/q}.g :
ind its speed in kmh ™1, when it has moved through 100m. td g Semt Ly J UL LT K 100,620 )

6.  (a) Whatis meant by kinetic energy? Derive its equation. 4+5=9
{b) A force is acting on a body making an ang

horizontal. The horizontal component of t
Force.

7. (a) How we can use conductors and non-conductors in 4+5=9
houses? Explain it. '

(b) The weight of a metal spoon in air is 0.48N. its weignt in water is

0.42N. Find its density.
226-00-A- K
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Time: 15 Minutes R~ ~;§ Marks : 12
Note: ~ Write answers to the questions on the objective answer shest provided. Four possible answers are
given. Which answer you consider correct fill the corresponding circle A B..C or D in front of each
question with marker or ink on the answer sheet provided. ; 15
S B Sy o I 32 L S W 22 15 128l iy g 1ad '
1.1 The Sl unit of force is Newton (N) which is equal to: j .ub} 1.1
(A) Kgm?s~2 (B) Kgms~2 (©) ;
2. A measuring cylinder is used to measure : E B
(A) Mass 1 (B) Area |4
3. 50 Kmh™?! is equal to: #80 Kmh™! 3
(A) 1.388ms™? (B) 13.88ms—? (9/) 1388 ms—1
4. I - "t is equalto: ° cds L 4
A F (8) v
5. The number of perpendicular compofents of e bt St Lubs 5
(A) 1 (8) 4 5 (D) 2
6. Mathematical form of Y AT AL PN
(A  LF=0 i SP=0 (D) T W=0
7. The f?m"u'a to ﬁng?the o e U 68(V) &J&W{Ll;d&;/d}élﬁ’lﬁgﬂ) o
satellite is : ; .
(A Vo=gR © Vo=JgR  © Vo=JgRZ |
8. The KE. of a body of mass 2kg is 25.. Its s by dui-g 2518785 SR G LA Ky 8 ]
(A) 50ms-1 (B) 25mS-t (C) 125ms-1? (D) 5ms-1 1
9. The density of wateris : w00l 9
(A) 10kgm™3 (B) 100 kg m=3 (C) 1000 kg m—3 (D) 10000 kg m~=3
10. What should be the approximate length of a glass sz bl P ol S22 2 22 ey .10
tube to construct a water barometer? kL dnor/ ‘ J J quJ.LLh/wlfdg
(A) f1m (8) 25m C) 1m (D) 05m
11.  Water freezes at : ‘P gAY, 1
A 0°F A  32°F @  37°F &)  100°F
12.  Example of bad conductor of heat is : e ST Lanr 12
(A)  Gold t» (B)  lIron ¢ (C) Wool ws (D) Graphite i/
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Section - 1 R .2~ 23 st 4
2 Write short answer of any five parts of the following:- 2x5=10 L f ez ,I?z_,,y,,g,;‘_‘j e 2

(i) Define atomic Physics.
(i) Wite two factors of significant figures.

(iii)  Write following quantities in standard form:
(i)

(iv) Define circular motion and give one example.

(v) Define speed and write its SI units.

(vi) Define acceleration and write its SI units.
(vii) ~ Differentiate between mass and weight.

(vili)  State law of conservation of momentum.

3. Write short answer of any five parts of the following:- Wi

(i) Define like and unlike parallel forces.
(i) What means by resolution of forces?
(i) Write principle of moments.

(iv) Why law of gravitation is important to us

(v) State the law of gravitation.
(vi) Define work and write unit.
(vii) Define types of mechanical energy? :
(viii)  What is nuclear energy?

4, Write short answer of any five parts of the following:

() State Hooke's law. v
(i) Define pressure and alg

(iiiy  Write difference befjygg
(iv) Define specific hegt capa
() Convert 50°C on Celsius scale ifg
(vi) How does heat reach us from the sun?
(vii) Define radiation.

(viii) Why does land breeze blow in the night?

Section - II

Note:-  Answer any two questions from the following.

5.(a) State Newton's second law of motion. By deriving
mathematical form of this law define the St unit of force.

(b) A train starts from rest with an acceleration of

6400 Km (i) 38081

A ()
¥4 Sl s il (i)
) rﬁfu‘af‘/ -8 4] [T ()]

BISI iy Sy

2O v (vii
L Ol T (Vi)

pabedsd 3
LS S IR T vy (i)
Sglol p e Z P (i)
L otk sy (iv)
el 5eS ()
g S F e (vi)
YR AR NATE < I
Sl Bi s (vil])

—t/.-/ 4; .."_«!.Li.’/:? Loz é&c_&f 4
LS5 (i)
ST Ny Ay (i)
s i)

s Iz (W)

temperature scale. _qf‘b;uctdz‘:qw/s{‘i/jsoocfvg}:cg?-’ v)

eI L fnsre ()

WY NS

9‘4613 U 4‘:’!4&'1(5/.(3 (vii}

(224> .

9x2=18 LW 2lctrne §f nd

_— dod u!{m-&ﬁuguf’m a3 f o ¥ oy 05
FE/ Jag&uwz.n;f 331 sl
b b‘:iVﬁﬁ)’géo.5mS‘zgaﬂbJ O )

0.5ms 2 Find its speed in kmh™?, when it has moved KN e ey Lt L2 S5 L 00 3f

through 100m.

dnyf
6.(a) What is meant by kinetic energy? Derive its equation. 4+5=9 _2.{15-!&!:[/‘,&{!?“:..)! A GAK5 56 (1) 6
(b)  Find the perpendicular components of a force of 50N making an e ul'f.,:ubﬁo%’vérft-xwiJSON ()
angle of 30° with x-axis. LI A L
7.(a) Whatis meant by evaporation? On what factors the W99y eadd J(cq_ spla Mgy O 7
evaporation of a liquid depends? et U/ AP

{b) The density of a air is 1.3 Kgm~>.Find the mass of a air in a

room measuring 8mx5mx4m.

8mx5mx4m.c 1.3 Kgm™3 +*5Jix ()
w2y r:“'utb’m;zruﬁ':_/ Yy G
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